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Ifg wEd dieg 6 € 9 FIF W@ He Th
RIS ST § ?

(A) TEe HAE
(B) s HrE
(C) 3fUTe HAre
(D) (A) R (C) Tt

Which mode creates a new file if the file does
not exist ?

(A) write mode
(B) read mode
(C) append mode

(D) Both (A) and (C)

Frfafad § 9 F 91 TR KT U Fi 57 9&=[
IERIESIGIES

>>> f = open(“test.txt”,”w”)

>>> f.write(345)
(A) oo & (B) U TR

©) fErT® (D) WIHW

Which of the following error is returned by
the given code ?

>>> f = open(“test.txt”,”w”)
>>> f.write(345)
(A) Syntax Error (B) Type Error

(C) String Error (D) Run Time Error

HIF H THS TR Uie &l adaH feafa & 10
e IS o ST |

(A) fseek(-10, 0)
(B) f.seek(10, 0)
(C) f.seek(-10, 1)
(D) SR H ¥ HE T

Which statement will move file pointer 10
bytes backward from current position ?

(A) f.seek(-10, 0)
(B) f.seek(10, 0)
(C) f.seek(-10, 1)

(D) none of the above

T AHS Teh higeh hl STAM
FH TU, TIEH W ST HEl o THIOT Sl FU
HT T |

(A) pi

(B) oA

(C) lambda

(D) ST § § HIE Tl

Python supports the creation of anonymous
functions at runtime, using a construct called

(A) pi
(B) anonymous
(C) lambda

(D) none of the above
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funl() %1 HEl HRME feaez™ 94 aife &4
freferfiad <t ther shict shl Hoherdrgeieh froarfed

e |

fun1(25, 75, 55)
fun1(10, 20)

(A) def funl(**kwargs)
(B) def funl(args*)

(©) No, it is not possible in Python
(D) def funl(*data)

Choose the correct function declaration of
funl() so that we can execute the following
two function calls successfully.

fun1(25, 75, 55)

fun1(10, 20)

(A) def funl(**kwargs)

(B) def funl(args®)

(©) No, it is not possible in Python
(D) def funl(*data)

BIEAR ! T & fore f71 § | i o1 Higeasr
e ® 2

Which of the following software is required
to run the hardware ?

(A) Task Manager
(B) Task Bar
(C
(

) Program Manager
D) Device Driver

Frefafad qReM Hi &1 ™Y =1 T ?
d1={“abc”:5,” def”:6,” ghi”:7}
print(d1[0])

(A) abc (B) 5

(C) {“abc”:5) (D) Error

What will be the output of the following
Python code ?

d1={"abc”:5,”det”:6,” ghi”:7}

print(d1[0])

(A) abc (B) 5

(C) ({“abc”:5} (D) Error
frfafed ¥ & #9 o@ feawm Taq €72
(A) x=2 (B) x=3

€ _xyz_ =5 (D) TTH 9 IS &l

Which of the following declarations is
incorrect ?

(A x=2 (B) x=3
C) _xyz_ =5 (D) None of these

Ted o #, freafafaa § 9 foed afwea &

wq H gftwifed &l fohan s wehar § 2
(A) _val (B) wval
O try (D) _try_

In python language, which of the following
cannot be defined as variable ?

(A) _val (B) wval

) try (D) _try_
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10.

11.

12.

Frefafaa § 9 wF & ueE 7 g A g
TR 8 ?

(A) count() (B)
(C) strip()

Which of the following are valid string
manipulation functions in Python ?

upper()
(D) W a4t

(A) count() (B)

(©)  strip() (D)

upper()
All of the above

frefafad Rede & f Fne?
f=open(“Data.txt”, “r”)

e ded
RS TefefT

What is ‘f" in the following statement ?

(A) Iz <l H (B)

(C) wRA®HHAE (D)

f=open(“Data.txt”, “1”)
(A) File Name (B) File Handle
(C) Mode of file (D) File Handling

e it H, k I 9k ] a9 SEH & Ay
frefafaa § 9 =i @1 SffRet 9el faewmey §2

(A) k71 (B)

k**1

<G k"7l (D) k"™

In python language, which of the following
operators is the correct option for raising k to
the power 17

(A) k~1 (B) kI

(C) k~AAIL (D) kA #

13.

14.

15.

e | Numpy W T zeros() HRM I &

ST 2

(A) Tt Tfede & Wy T Bfewm 0 I &
fer

(B) Tt SrME Ufede %Wy H HigH 0
CEIREEATIY

(C) vl Uferd o e Teh Hfged 0 59 & farg

(D) ST § § HIE Tl

What is the use of the zeros() function in

Numpy array in python ?

(A) To make a Matrix with all element 0

(B) To make a Matrix with all diagonal
element 0

(C) To make a Matrix with first row 0
(D) None of the above

frefafed § § &F @ W= 9@ oo H
S el &2

(A) wval (B) raise

O try (D) with

Which of the following words is not a
keyword of python language ?

(A) wval (B) raise

C) try (D) with
frfafad sie &1 e=eqe F 7 2

a = np.array([[1,2,3],[4,5,6]])
print(a.shape)

(A) (23 B G2

© @1 (D) T & FE A

What is the output of following code ?
import numpy as np
a = np.array([[1,2,3],[4,5,6]])

print(a.shape)
(4) 23 B G2
<O @1 (D) None of these
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16.

17.

~

fFefafEd e fete 1 3—eye =11 3 ?

numbers = (4, 7, 19, 2, 89, 45, 72, 22)
sorted_numbers = sorted(numbers)

odd_numbers = [x for x in sorted_numbers if
x % 2 1=0]

print(odd_numbers)

(A) [7,19, 45, 89]

(B) [2 4, 22, 72]

Q) [4,7,19 2, 89, 45, 72, 22]
(D) [2,4,7,19, 22, 45,72, 89]

What will be the output of the following code
snippet ?

numbers = (4, 7, 19, 2, 89, 45, 72, 22)
sorted_numbers = sorted(numbers)

odd_numbers = [x for x in sorted_numbers if
x % 21=10]

print(odd_numbers)

(A) [7, 19, 45, 89]

B) [2 4, 22, 72]

[4,7,19, 2,89, 45, 72, 22]
[2,4,7,19, 22, 45, 72, 89]

frfafea weie &1 e=ege F1 B ?
>>>"m”+"nl”

(A) ‘m+nl (B) ‘mnl
(€ ‘mnl (D) m’

What will be the output of following
statement ?

>>>//mll +//n1//
(A) ‘m+nl’ (B)
(C) ‘mnl (D) ‘m’

18.

Frefafad qReM HIe &1 ™Y =T T ?
def power(x, y=2):

r=1

for i in range(y):

r=r*x

return r
print (power(3))
print (power(3,3))

(A) 212
32

(B) 9
27

(C) 567
98
(D) ST § § HIE Tl

What will be the output of the following
Python code ?

def power(x, y=2):
r=1
for i in range(y):
r=r*x
return r
print (power(3))
print (power(3,3))

(A) 212
32
(B) 9
27
(C) 567

98
(D) None of the above
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19.

20.

21.

ﬁmﬁ@ﬁﬁ@aﬁqmﬁkey=ﬁgeré§m
-9 TR 1 feedte wam ?
dic={"lion”"wild”,” tiger”"wild”,” cat”:” domestic”,
“dog”.” domestic”}

(A) del dic[“tiger”]

(B) dic[“tiger”].delete()

(C) delete(dic.[“tiger”])

(D) del(dic.[“tiger”])

Which of the following will delete key-value
pair for key="tiger” in dictionary ?
dic={"lion”"wild”,” tiger”"wild”,” cat”:” domestic”,
“dog”.” domestic”}

(A) del dic[“tiger”]

(B) dic[“tiger”].delete()

(C) delete(dic.[“tiger”])

(D) del(dic.[“tiger”])

g feer =1 AfaTsh gl

(a) = (B) ¥y

© ™ (D) Fvgra fre
The brain of computer system is

(A) RAM (B) CPU

(€) ROM (D) Control Unit
X ol ST 1§ ?

import numpy as np
a=np.array([1,2,3,4])
x= a.tolist()

22.

23.

24.

fFe TR A arr = [(1, 1), (2,2), (3,3)] ?
A)  gueH St g

B) fwdl % gucH

C) T9eH i §Off

) 3T YRR

What type of data is : arr = [(1, 1), (2, 2),

(

(A) List of tuples

(B) Tuples of lists
(C) Array of tuples
(D) Invalid type

~

Frefafad sie 1 STSYe F1 © ?

import numpy as np

a = np.array( [2, 3, 4, 5] )

print(a.dtype)
(A) int 32 (B) int
(C) float (D) STH | g &l

What will be output for the following code ?
import numpy as np

a = np.array( [2, 3, 4, 5] )

print(a.dtype)
(A) int 32 (B) int
(C) float (D) None of these

e °ie § 22 foea & fau fog HheRm =

(A) int (B) array .
(C) tuple (D) list SEEINEEREIRSIE %7
What is the datatype of x ? (A) write (B) writelines
import numpy as np (C) dump (D) pickle
a=np.array([1,2,3,4]) Which function is used to write data in binary
x= a.tolist() mode ?
(A) int (B) array (A) write (B) writelines
(©) tuple (D) list (©) dump (D) pickle
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26.

Teh AN shfes &9 i EX|
Sick

(A) TaH (B) ¥Rm®

(C) T (D) IWI |t

Pictorial representation of an algorithm is
called as

(A) Statement (B) Program

(C) Flow chart (D) All the above

o o

FefafEd ol 3TEeYE 1T © ?

y = ‘klmn’

for i in range(len(y)):
print(y)

(A)  Kklmn klmn klmn klmn
B) k

©) kkk

(D) T ¥ &I &

What is the output of the following ?
y = klmn’

for i in range(len(y)):
print(y)

(A) Kklmn klmn klmn klmn

27.

28.

o o

Frfafad e fede &1 3T—eye a1 B ?

from math import *

a=219

b = 3.999999

c =-3.30

print(int(a), floor(b), ceil(c), fabs(c))
(A) 23-333 (B) 34-33
(© 2333 (D) 23-3-33

What will be the output of the following code
snippet ?

from math import *

a=219

b = 3.999999

c=-3.30

print(int(a), floor(b), ceil(c), fabs(c))
(A) 23-333 (B) 34-33
© 23-33 (D) 23-3-33
frefafed q@em S 1 38 = B 2
tuple1=(5,1,7,6,2)

tuplel.pop(2)

print(tuplel)

(A) (5,1,6,2) (B) (5,1,7,6)
©) (5,1,7,6,2) (D) Error

What will be the output of the following
Python code ?

tuple1=(5,1,7,6,2)
tuplel.pop(2)

(B k print(tuplel)
(©) kkk (A) (51,62 (B) (5,1,7,6)
(D) None of the these ©) (1756,2) (D)  Error
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29.

30.

31.

o T HiFed Al ST 81
[EZRIEL
A) = HEs hl HeH
B) 3 S Al i Il
C) IUANTHA! i 3TELYE Y&H HH
D) < e Sired

The sequence logic will not be used while

(
(
(
(

A) Subtracting two numbers

(

(B) Comparing two data values
( Providing output to the user
(

D) Adding two numbers
feafiin diteaaR § W1 S B B
EERIRS
(A) fshan (B) m
(€)= (D) =T § i T

Debugging is the process of fixing a
in the software.

(A) procedure (B) function

(C) Dbug (D) None of these
freafafed aem Fie o1 28eye =1 8 ?
len([“hello”,2, 4, 6])

(A) Error (B) 6

© 4 (D) 3

What will be the output of the following
Python code ?

len([“hello”,2, 4, 6])
(A) Error (B) 6
©) 4 (D) 3

32.

Frfafad qReM Hie & STEeye =T T 2

def func(a, b=5, c=10):

print(‘a is’, a, ‘and b is’, b, “and c is’, c)
(13, 17)

func(a =2, c=4)

func(5,7,9)

(A) ais13 and bis 15 and c is 10

ais2and bisband cis 4

func

aisband bis7 and cis 9
(B) ais13 and bis 17 and c is 10

ais2and bis4 and cis 4

aisbandbis9and cis7
(C) ais13and bis 17 and c is 10

ais2and bis 5 and cis 4

aisband bis7 and cis 9
(D) SR H ¥ HE T

What will be the output of the following
Python code ?

def func(a, b=5, c=10):

print(‘a is’, a, “and b is’, b, “and c is’, c)
(13, 17)

func(a =2, c=4)

func(5,7,9)
(A) ais13 and bis 15 and c is 10

ais2and bisband cis 4

func

aisband bis7 and cis 9
(B) ais13 and bis 17 and c is 10

ais2and bis4 and cis 4

aisband bis9and cis7
(C) ais13and bis 17 and c is 10

ais2and bis 5 and cis 4

aisband bis7 and cis 9
(D) None of the above
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33.

34.

35.

= & ¥ &9 WEA (file object ‘f') T HYUl
[T ST T ?

(A) freads() (B)
(C) f.read(all) (D)

f.read()
f.read( *)

Which of the following will read entire
content of file (file object ‘f’) ?

(A) freads() (B) fread()

(C) f.read(all) (D) fread(*)
e # o w7

(A) ST (B) C

(C) PHP (D) W a4t
Python is written in

(A) Java (B) C

(©) PHP (D) All of the above
TH =T <Rl Hie TS 319 ASCII

1 fTehTS 0T it Teh WIH & €9 H Hufed it
g

(A) T FEA
(B) T s
(©) (A) 3R (B) T
(D) 398 9 FIE &

A stores information in the
form of a stream of ASCII or unicode
characters i.e. human readable.

(A) Textfile

(B) Binary file
(C) Both (A) and (B)
(D) None of these

36.

37.

~

frefafad Serehre o1 3T=3<Ye =11 81T ?

Integer a, b
Seta=10,b=5
a=amod (a- 6)
b=bmod (b-2)

Printa-b
(A) 4 (B) 0
<O 1 (D) 8

What will be the output of the following
pseudo code ?

Integer a, b
Seta=10,b=5
a=amod (a- 6)
b=bmod (b-2)

Printa-b
(A) 4 (B)
© 1 (D)

o~ o

Frefafad sie il ST=PYe T & ?

a = set(‘abc’)

b = set(‘cdef’)

print(a&b)

@A) ()

(B) {a’,b,/c/d /¢ f}

©)  {c}

(D) T8 ¥ HIE &

What is the output of the following code ?

a = set(‘abc’)

b = set(‘cdef’)

print(a&b)

@A) ()

B) {a,b,c,/d /¢ f}
) {d

(
(C
(D) None of these
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38.

39.

frfafed #ie & fau s=eye 1 g ?
import numpy as np

a = np.array([[1,2,3],[0,1,4]])

print (a.size)

(A) 1 (B) 5

© o6 (D) 4

What will be output for the following code ?
import numpy as np

a = np.array([[1,2,3],[0,1,4]])

print (a.size)

(A) 1 (B) 5

© o6 (D) 4

~

frefafead e s sTseye I 7 2

import numpy as np
a = np.array([1,2,3,5,8])
b = np.array([0,3,4,2,1])

c=a+b

Cc =cC*a

print (c[2])

(A) 10 (B) 21
<) 12 (D) 28

What is the output of the following code ?
import numpy as np

a = np.array([1,2,3,5,8])

b = np.array([0,3,4,2,1])

40.

41.

Frefafad qRem FiS 1 ST8eye 1§ ?

>>>print(5*(2/ /3))
(A) 3 (B) 3.3
Q) 0 (D) error

What is the output of following Python
code ?

>>>print(5*(2/ /3))

(A) 3 (B) 3.3

(C) 0 (D) error
et e 1 1 g o A2

>>>listl = [1, 3]
>>>]ist2 = listl

>>>1ist1[0] = 4

>>>print(list2)
(A) 14 (B) [L 3 4]
©) 4 3] (D) [1, 3]

What will be the output of the following
Python code ?

>>>list] = [1, 3]

>>>list2 = listl

c=a+b >>>1ist1[0] = 4
c=ca >>>print(list2)
print (c[2])
&) 10 ® 21 (A) 11,4 B) 113 4]
© 12 (D) 28 © 4 3] (D) 1, 3]
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42.

43.

~

Frefafad sie 1 ST=8YE T © ?

M=['b" * x for x in range(4)]

print(M)

(A) [”,’P’,’bb’, ‘bbb’]

(B) [P, ‘bb’, "bbb’, “bbbb’]

(©) [P, ’bb, ‘bbb’]

(D) T 9 g T

What is the output of the following code ?
M=[b" * x for x in range(4)]

A) [”,’b,’bb’, ‘bbb’]

B) [P, ‘bb’, ‘bbb’, “bbbb’]
C) [P, ’bb, ‘bbb’]

D) None of these

f.read(5) TH T3 (file object is ‘f) |
_ wem?

(A) 530

(B) 5 W=

(C) 5 dfear

(D) W § § HIE T

f.read(5) will read
object ‘f’).

from a file (file

A) 5 characters

B) 5 words

~

(
(
(C) 5lines
(

D) None of the above

44.

45.

46.

~

fFefafEd e hfau sT=ege + grm ?

import numpy as np

a = np.array([1,2,3,5,8])
print (a.ndim)

(A) O (B) 1
< 2 (D) 3
What will be output for the following code ?
import numpy as np

a = np.array([1,2,3,5,8])
print (a.ndim)

(A) 0 B 1
<o 2 (D) 3

TAERE | S &S &1 A0 & & fau
frefafea § 9 fome gdish 1 9= o Simar 8 2
(A) wUIA Al (B) =@
(C) wfEm (D) fefasm

For performing the addition of two numbers,
which of the following symbol in a flow chart
are used ?

(A) Control flow (B)
(C) Processing (D)

Terminal

Decision

o~ o

FefafEd &l 3TSeYe &1 © ?

print(max([1, 2, 3, 4], [4, 5, 6], [7]))
(A) [4,5,6] (B) [7]

<© 11,23 4] (D) 7

What is the output of the following ?
print(max([1, 2, 3, 4], [4, 5, 6], [7]))
(A) [4,5,6] (B) [7]

© 11,23, 4] (D) 7
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47.

48.

49.

T F&T x="hello” &I 3@d T x.count(‘l’)
3TISIYE 1 § 2

(A) 2 B 1

© 0 (D) g T

Given a string x="hello” What is the output
of x.count('l’) ?

(A) 2 (B) 1

< o (D) none
FAfafEd TeRIUeH &1 3TSeYe =11 I ?
x =14

print(x>>2)

(A) 14 (B) 1

Q) 3 (D) 2

What will be the output of the following
expression ?

x =14

print(x>>2)

(A) 14 B 1
< 3 (D) 2

NumPY 1 g0 &9 & ?
A) e qEeH

B) eR 39 UReH

C) JHiewa uEeH

D) ST H ¥ *IE &
NumPY stands for :

(
(
(
(

(A) Numbering Python
(B) Number In Python
(C) Numerical Python
(D) None of the above

50.

51.

52.

Tl =16 & T e Ut 7
(A) Hfeha (B) HHEGYS
(C) <TmHS (D) Wi qff

The connector symbol for flow chart is

(A) Circle (B)
(C) Diamond (D)

Parallelogram

All the above

e sl § g1 ford U H Bt § 7

(A) T feqig e

(B) 3 yrsu H fSH <1 &l B | @1 S
g

(C) TTHHSTEE JrEd

(D) IfTRie HEd

In which format Binary file contains
information ?

(A) Quick response code

(B) Same format in which the data is held
in memory

(C) ASCII format
(D) Unicode format

TIM T WeHe HEd (file object is ‘f) ¥ Tk Ul
A I ?

(A) freadlines() (B)
(C) fread() (D)

f.readline( )
f.line( )

Which statement will return one line from a
file (file object is “f’) ?

(A) freadlines() (B)
(C) fread() (D)

f.readline( )
f.line( )

Page 12/13

SPACE FOR ROUGH WORK

M3-R5/01-23



53.

54.

55.

T fasga i H ERAEIDI
(A) VH (B) Hhl

(C) Rl (D) A

A detailed flow chart is called as

(A) stack (B) macro

(C) micro (D) union

I At H TRt Aiss@ 1 STEM w0 &
faq, smusht sH TWEHE 1 IHAM
Fh gHS HTAT AT |

(A) import

(B) include

() (A) ¥R (B) =T

(D) IW H 9 hIs Tl

To use a module in another module, you must
import it using an statement.

(A) import

(B) include

(C) Dboth (A) and (B)

(D) none of the above

o

frfafad o1 STSeye I § 2
0

m=
while m < 5:
print(m)
m+=1
if m == 3:
break
else:
print(0)
(A) 0120 (B 012
(© 00102 (D) error
What is the output of the following ?
m =0
while m < 5:

print(m)

m+=1

if m == 3:

break

else:

print(0)

(A) 0120 (B 012
(© 00102 (D) error

56.

57.

58.

Yo T 1 G& THRISTH 7
(A) .py (B) .pyth
(©) .python (D) TTH ¥ g &l

The correct extension of the Python file is

(A) -py (B)

.pyth
(©) .python (D) None of these
O % I H G HT B AT
T ST B
(A) led (B) HIHI
(C) I (D) BEW

The contents inside the “for loop” are
separated by :

(A) colon (B) comma
(C) semicolon (D) hyphen
frfafad ar=em Fie w1 TSeye =1 8 ?

from math import factorial

print(math.factorial(5))

(A) 120

(B) T ot foae & drm

Q) TR Ave FRIREd iy Arega § THhiae
TE

(D) T WeHe T =1 print(factorial(5))

What will be the output of the following

Python code ?

from math import factorial

print(math.factorial(5))

(A) 120

(B) Nothing is printed

(C)  Error, method factorial doesn’t exist in
math module

(D) Error, the statement should be :

print(factorial(5))
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59. frAfafed sie THe T fie wam? 61. Tr=fafEd o 9 % 91 Hiea 1 STAN HH &
if True or True: Y TE 7 ?
if False and True or False:
print(‘A’) (A) UM I & TF: STNT 61 Th FEH Y3H
elif False and False or True and True: aukd
int("B’ .
. print(B) (B) Al I fawifSia &1 &1 T WiEH U=H
else:
hdl
print('C’) §
else: ' (C) TIITH & STHR H FH T H Th A
print("D’) T H B
(A) A (B) B
© C (D) D (D) W ShSTerT-3Ter &gl o Tdefon &l Th
What will following code segment print ? U M Rl ©
if True or True:
if False and True or False: Which of the following is not an advantage
A of using modules ?
print("A”)
elif False and False or True and True: (A) Provides a means of reuse of program
print('B’) code
else: . o
) (B) Provides a means of dividing up tasks
print('C")
else: (C) Provides a means of reducing the size
print('D’) of the program
(A) A (B) B (D) Provides a means of testing individual
© C (D) D parts of the program
60. Trfafed &1 smeeye 1 T2
x=123 62. WIHRER % forshrd o forg =wor # W H
foriin x T[UTer ST WereH feRan T § 2
print(i)
(A) 123 (B) 123 (A) <fen (B) el
C) Error D E:PEI g Eﬁ'sc E
©) , (0) , (C) msfeam (D) fosra
What is the output of the following ?
x=123 In which software development phase quality
foriin x: of software is documented ?
print() (A) Testing (B) Delivery
(A) 123 (B) 123
(C) Error (D) None of these (C) Idea (D) Development
Page 14/13 SPACE FOR ROUGH WORK M3-R5/01-23



63.

64.

65.

T T A STTAW i 3ET HH & fau
eI ] Y wfed foran < Tehd
7

(A) G (B) HigeH

(C) Ifem (D) SR gt

Structured program can be broken into
to assign to more than one

developer.

(A) Segments (B) Modules

(€)  Units (D) All the above
Trfafad 9em ®ie 1 3T=ege =11 B 2

from math import *
floor(11.7)

(A) 12

(B) 11

(© 11.0

(D) T ¥ &I &
What will be the output of the following
Python code ?
from math import *
floor(11.7)

(A) 12

(B) 11

(C 11.0

(D) None of these

frafafad & @ &9 91 e[ g H face-3q
TheRH © ?

66.

67.

frAfafea #ie & o s=eye # grm ?

import numpy as np

ary = np.array([1,2,3,5,8])
ary = ary +1

print (ary[1])

(A) 0 B) 1
< 2 (D) 3

What will be output for the following code ?
import numpy as np

ary = np.array([1,2,3,5,8])

ary = ary +1

print (ary[1])

(A) 0 B) 1

< 2 (D) 3

frafafes ¥ 9 fogd <o ot &9 9 9ufed
foran ST 2

(C) W= 3T
ITF | 9 hiE &l

In which of the following, data is stored
permanently ?

(D)

(A) factorial() (B) print()
(C) seed() (D) sqrt() (A) Variable
Which of the following functions is a built-in (B) File
function in python ?
(A) factorial() (B) print() (C) Both of the above
(C) seed|) (D) sqrt() (D) None of the above
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68.

69.

o o o N

TeAfAfEd I Hl TS FA § ?
def s(nl):

print(nl)

nl =nl +2
n2=4
s(n2)
print(n2)
(A) 64 (B) 46
(C) 44 (D) 66
What is the output of the following code ?
def s(nl):

print(nl)

nl =nl +2
n2=4
s(n2)
print(n2)
(A) 64 (B) 46
) 44 (D) 66

Frfafad qEeM Hie & A=PTE -1 TR 2
def display(b, n):
while n>0:
print(b, end="")
n=n-1
display('z’, 3)
(A) zzz
(B) zz
(C) Infinite loop
(D) An exception is thrown

What will be the output of the following
Python code ?

def display(b, n):
while n>0:

print(b, end="")

n=n-1

display('z’, 3)

A) zzz

B

~—"

Y4

~—

Infinite loop

o~ o~ o~ o~

C
D

~—"

An exception is thrown

70.

71.

72.

o o

fFefafEd e fete 1 3—eye =1 3 ?
print([i.lower() for i in “HELLO”])

(A) hello

(B) [T, e, 1,1, 0]

(C) hel

(D) HELLO

What is the output of the following code
snippet ?

print([i.lower() for i in “HELLO”])
(A) hello

B) [T, e, 1,1, 0]

hel

HELLO

fenfide therm i3

A) T HRM S W H Hid H ©

B) W& TR Sl 3= T4l ! il T §
C) (A) 3R (B) Tl

D) W H ¥ &IE T

Recursive function is

(A) A function that calls itself

(
(
(
(

(B) A function that calls other functions
(C) Both (A) and (B)
(D) None of the above

o o

fFrefafEd 1 ST=3eye 1 B ?

print(sum(1,2,3))
(A) Error (B) 6
< 1 (D) 3

What will be the output of the following ?
print(sum(1,2,3))

(A) Error (B)

© 1 (D)
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73.

74.

75.

TR oS § i€ hsciish ol IRIfd & &

fou frafafea § 9 foeen ST foman S g 2

(A) try (B) SiheH
(C) =M ]

Which of the following is used to define a
block of code in Python language ?

(D)

(A) try (B) Brackets
(C) Indentation (D) Catch
frafafad sie &1 =eqe F 7 2
import numpy as np

a = np.array([1,2,3])

print(a.ndim)

(A) 1 (B) 2

© 3 (D) 0

What is the output of the following code ?
import numpy as np
a = np.array([1,2,3])

print(a.ndim)

(A) 1 (B) 2

< 3 (D) 0

YEI-%his H TSI 510 femmn
TMHFAR :

(A) Hell I9d (B) ST She

(C) SEEeTA (D) SHiehreH

Hierarchy in a pseudo-code can be shown
by :

76.

77.

78.

fordt HaRE & weY gRefaq afRuad &l @
hed € 2

A) TH fer afwea

B) & dfysh aRuaa

C) Tk T dRuse

D) T& WEiad dRaa

What is a variable defined outside a function
referred to as ?

(
(
(
(

A static variable
B) A global variable

A local variable

D) An automatic variable
3L - ERT 2

Y=[2,5],6]

Y.sort()

(A) [2,65]] (B) [51.2,6]
(©) Error (D) [6,5],2]

What will be the output of following ?
Y=[2,5],6]

Y.sort()
(A) [263]] (B) [5),2,6]
(C) Error (D) [6,5],2]

Al 9T AW UGN/ STIHEE A HT1 STA

% foru fopen S R
(A) TsaEH (B) fefgsH
(C) weHe (D) YUK |t

Kite/diamond symbol in flow chart is used
for

(A) Curly Braces (B) Round Brackets (A) Execution (B) Decision
(C) Indentation (D) Semicolon (C) Statement (D) All of the above
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79.

a=5, b=8 c=6 & fuy fr=Aferfaa Teiifes =
3T AT T 2
Step 1 : Start
Step 2 : Declare variables a, b and c.
Step 3 : Read variables a, b and c.
Step4:Ifa<b
Ifa<c
Display a is the smallest number.
Else
Display c is the smallest number.
Else
Ifb<c
Display b is the smallest number.
Else
Display c is the smallest number.
Step 5 : Stop
(A) a HIY BIE &N T
(B) b ToH B W& T
Q) ¢ Tod B HE ¥
(D) stop
What will be the output of the following
algorithm for a=5, b=8, c=6 ?
Step 1 : Start
Step 2 : Declare variables a, b and c.
Step 3 : Read variables a, b and c.
Step4:Ifa<b
Ifa<c
Display a is the smallest number.
Else
Display c is the smallest number.
Else
Ifb<c
Display b is the smallest number.
Else
Display c is the smallest number.
Step 5 : Stop
(A) ais the smallest number
B) Db is the smallest number

80.

81.

82.

frefafed qrem sie o1 e=sege =1 8 ?
example = “helle”

example.rfind(“e”)

(A) 1 (B) 2

©) 4 (D) 5

What will be the output of the following
Python code ?

example = “helle”
example.rfind(“e”)
(A) 1 (B) 2
©) 4 (D) 5

T WHZ 1 3TN qd foran S §
T HIE WHS JCHE €9 H SAG9aH Bl
T TfeRA o1 T =mea fok g e fremfed 2
(A) Dbreak (B) pass
3T 9 e T

A statement is used when a

statement is required syntactically but you do
not want any code to execute.

(A) break (B)
(C) continue (D)
FAERe A ety &+ fawfud w0 & fau
frefafea § 9 ford foms o1 Wi e ST § 2
(A) (B) Wi

(C) HHFEYS (D) foremron

Which of the following symbols is used to
represent output in a flow chart ?

(C) continue (D)

pass

none of these

( . (A) Square (B) Circle
(C) cis the smallest number
(D) stop (C) Parallelogram (D) Triangle
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83. frfafad # & -9 T STaRad19 S TR | 86. TAMEIE § I scfehi i SIS o folq T &
7?2 w9 § ford eften o1 STAM foRan ST & 2
(a) foe (B) (a) @ (B) wfha
(C) tuple (D) dict (C) g (D) HHRREGHS
Which one of the following is immutable data Which symbol is used as a flowline to connect
type ? two blocks in a flow chart ?
(A) list (B) set (A) arrow (B) circle
(C) tuple (D) dict (©) Dbox (D) parallelogram
84. readlines() Hers 1 izt T 37 87. ﬁl‘rr%lf?'d SIS 1 TSeYS FT TFN, W&l
ANd #TTRM &1 Ffafae e g 2
(A) (B) T Integer a, b, c
(€) <74 (D) faw Setb=5a=1
What does readlines() method return ? c=a&b
(A) Dictionary (B) String Print ¢
(C) Tuple (D) List (A) 1 (B) 3
© 3 D) 7
et A . > What will be the output of the following
85. i Eﬁ\ (\ e A % fere form pseudo code, where & represent ANd
STIAIES ol ITANT fohal i g 2 operation ?
(A) HIER (B) saa?:{ Integer a, b, C
. . Setb=5,a=1
(C) TH=R (D) TTH § &g &l
c=a&b
Which translator is used to convert assembly
language into machine language ? Print c
(A) Compiler (B) Interpreter (A) 1 (B) 3
(C) Assembler (D) None of these <@ 5 D) 7
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88.

89.

90.

&I T § |
(A)  get() (B)
(C) seek() (D)

function returns the current

position of file pointer.

(A)  get() (B)
(C) seek() (D)

tell()

cur()

tell( )

cur( )

foe 1 9 T Tfade (5) Sied & fae Her™ &
ST T S € 2

(A) listl.sum(5)

(B) listl.add(5)

(C) listl.append(5)

(D) listl.addelement(5)

Which function is used to add an element (5)
in the listl ?

(A) listl.sum(d)

B) listl.add(b)
listl.append(5)
listl.addelement(5)

Frfafad qEeM Hie & AETYE -1 TR 2
x = ‘abed’
for iin x:
print(i.upper())
(A) aBCD (B) abcd
(C) error (D) ABCD

What will be the output of the following
Python code ?

x = ‘abed’
foriin x:
print(i.upper())
(A) aBCD (B) abcd
(C) error (D) ABCD

91.

92.

frfafad § @ &9 T=eH | Tk 9 AR
AR T ?

(A) // (B) ?
© < (D)

Which of the following is a valid arithmetic
operator in Python ?

(A) //

©) < (D)

Ts 9 9t Afegd TR W & faw o @
TS TRl § 2

(A) from package import all
(B) from package import *
(C) from package include all
(D) from package include *

Which statement is correct to import all
modules from the package ?

(A) from package import all
(B) from package import *
(C) from package include all

(D) from package include *
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93. S &H forelt Ut et =1 Tge Hre | @i 1 | 95, FreAfafed § @ i wh i w79 €2
T a3 & S AR T S, @ e A @ E
o fra 3 (8) (B)
. (©) fefaem (D) & &l T
(A) File Found Error
Which of the following is not a control
(B) File Not Exist Error structure ?
(C) File Not Found Error (A) Loop (B)  Process
) ) (C) Decision (D) None of these
(D) I H 9 hIE &l
Which of the following error is returned when ety 5
we try to open a file in write mode which %6 I T
does not exist ?
n=5
(A) File Found Error while n>0:
(B)  File Not Exist Error n-=1
(C) File Not Found Error if n ==2:
continue
(D) None of the above
print(n)
(A) 54310 (B) 4310
94. frfafad grem e & S FNT? (C) 432 (D) T 9 HIE T
>>>print(36 / 4) What is the output of the following ?
n=5
(A) 9 (B) 4
while n>0:
© 9.0 (D) 4.0
n-=1
What is the value of the following Python if n ==2-
code ?
continue
>>>print(36 / 4)
print(n)
(A) 9 (B) 4 (A) 54310 (B) 4310
© 9.0 (D) 4.0 (C 432 (D) None of these
Page 21/13 SPACE FOR ROUGH WORK M3-R5/01-23



97.

98.

S g9 TS Hie § wEd Wied ¢ al wEd e
TR R B R

(A) TREA & o9 | HE ot
(B) sid

(C) AW H

(D) WiEd w1 gH{ dfed

When we open file in append mode the file
pointer is at the of the file.

anywhere in between the file
end
beginning

second line of the file

AT 3T T <Rl SYATT = fau
ERIESICIEA

SRR FIHT

STThfcTd ehifeT
ST giero
ST Ht

Flow charts and Algorithms are used for

Better Programming
Optimized Coding
Systematic testing

All the above

99.

100.

e[ & = H Fel fashed &1 =97 Hifee |
(A) I iR foreey AT eafEda §

(B) TUTH FufEddia & Safe fawed
RIEERENIGES

2979 3R foed 3T afedRia ©

00T UREdARie Bd § SEfh faeed
STaREdH Bl §

Choose the correct option with respect to
Python.

(A)
(B)

©)
(D)

Both tuples and lists are immutable

Tuples are immutable while lists are
mutable

©)
(D)

Both tuples and lists are mutable

Tuples are mutable while lists are
immutable

frAfafaa e feie &1 em=3eye = g ?
d = {3, 4, 5}

for k in d:

print(k)

(A) {3,4,5}{3,4,5} {3 4 5

(B) 345

(C) Syntax Error

(D) SR H ¥ HE T

What will be the output of the following code
snippet ?

d = {3, 4, 5}

forkind:

print(k)

{3, 4,5} {3, 4, 5} {3, 4, 5}

B) 345

Syntax Error

None of the above

-00o0-
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